SN S
S AR

Sl FOIEOG KR

3 Al

SN H - SR(EH) - NPAMY - BES 013 o HRE2
gl S 338,900 327,318 11,582
gols AtZ &I 216,025 191,524 24,501
=2EA N 129,025 131,524 A2,499
=0t & ALK 6,375 7,500 A1,125
201 et=gl 2,550 3,000 A450

03 #HAH2SHI 2,550 3,000 A 450
OZHA2Y 2,550 3,000 A450

301 et ag 3,825 4,500 NBT5

10 SAAHIEA S 3,825 4,500 AB75
OAMEHIEYS 3,825 4,500 AB75
—SHH? AZHA FAX =4 1,190 1,400 A210

—gH ZZEAANGE 2 FAL 2o 1,275 1,500 N225
—=AAA= 3o FAA 24 510 600 A90

—ZHe BAHOIEEM 8) 24U 24 850 1,000 2150

22X 13,720 15,094 N1,374
201 LEt=2EH| 12,370 13,744 N1,374

02 223l 12,370 13,744 N1,374
OXted gthl 4,885 5,428 ADB43
—3I=X 7=l 3,805 4,228 A423

— X E 1,080 1,200 A 120

(@Fei=3.] 4,245 4,716 N4
OA&EEHIS X 3,240 3,600 A 360
FOHO AE &3 87,000 60,000 27,000
A2 AL e 87,000 60,000 27,000
401 A EHIL 201 87,000 60,000 27,000

01 Al£Hl 87,000 60,000 27,000
Oxm2 A& 57,000 60,000 /3,000
O =3AAMY 30,000 0 30,000
HY¥2IHH(LaS) 122,875 135,794 A12,919
I 2 11,100 11,600 A500
eI 2| 11,100 11,600 A500
203 HRF4Hl 11,100 11,600 A500

02 FRJAINMAHRFAHI 720 800 A80
O INMH I = 720 800 A80

04 RA2SERFAH 3,780 4,200 N420
ORM2IYR=LAH 3,780 4,200 N 420

Jl=2Z 4l 111,775 124,194 A12,419
Jl=&d| 111,775 124,194 A12,419
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201 LetEdH| 52,735 58,594 A5,859
01 AtE22/Hl 37,615 41,794 A4179
oz2d=¢ 5,085 5,650 A565
Oget=gH| 29,380 32,644 AN3,264
—2AN2E Let=2H| 17,280 19,200 A1,920
— LS E HIS 2L 9,720 10,800 A 1,080
—2 A EE2=S HEH 360 400 A0
—Fo3dEY 2,020 2,244 A224
O&M2E =&l 3,150 3,500 A 350
02 2323l 15,120 16,800 1,680
OZ232= ¥ HMAl 15,120 16,800 A 1,680
202 (4Hl 59,040 65,600 26,560
01 =AY 59,040 65,600 A6,560

O2 Ut (228 ¥ SHHEFA) 59,040 65,600 26,560
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FEEAH X2 92,857 95,074 N2,217
=0t & M 5,457 6,420 A 963
201 et=gl 2,550 3,000 A450

03 A2 HI 2,550 3,000 A450
O=zZedA2S 2,550 3,000 A450

301 LetE2H= 2,907 3,420 A513

10 SAAHIEA S 2,907 3,420 A513
OdAraHI 2 a3 2,907 3,420 A513
—SHH ASA ZFAX =4 952 1,120 A 168

—gH ZZEAANGE 2 FAL 2o 1,275 1,500 N225
—=AAA= 3o FAA 24 255 300 N5

—ZHe BAHOIEEM 8) 24U 24 425 500 AT5

2N 12,640 13,894 A1,254
201 LEt=2EH| 11,290 12,544 N1,254
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| =& 4l 82,187 91,319 N9,132
Jl2&Hl 82,187 91,319 N9,132
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SA-E . S(E) - MEAY - BES Abod o1& o SImE=ET
195,513 188,863 6,650
& Ar Z I 106,717 90,934 15,783
EESECDNE] 48,717 50,934 N2, 217
=0t & ALK 5,457 6,420 A 963
201 B3| 2,550 3,000 A450
03 #HAH2SHI 2,550 3,000 A 450
OZHA2Y 2,550 3,000 A450
301 et ag 2,907 3,420 A513
10 HAAHIZ &3 2,907 3,420 A513
OAMEHIEYS 2,907 3,420 A513
—SHH? AZHA FAX =4 987 1,120 A 133
—gH ZHEAMY 4 FAL 24 1,120 1,500 A 380
23X 12,640 13,894 N1,254
201 LetH| 11,290 12,544 N1,254
02 2323l 11,290 12,544 N1,254
OXtgte et 5,128 5,428 A 300
—X&EEH 900 1,200 A300
(@) K=3:] 4,362 4,716 A 354
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Sl FOIEG KR SREE
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i[ELE 209,954 203,433 6,521

DIZR AR 119,987 104,204 15,783

Z0IE0 KR 61,987 64,204 ~2,217

2402 L HAKXS 5,457 6,420 963

201 Ygreg| 2,550 3,000 A450

03 A2 | 2,550 3,000 A450
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10 SAFAHI A 2,907 3,420 ~513
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—SUICHS AEHAL AT SAY) 952 1,120 A 168

o RFEOAY S5 AT B4 1,275 1,500 ~225

—=XAAE 5o A B4 255 300 A45
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YK 12,640 13,894 A1,254

201 Yer2g| 11,290 12,544 A1,254
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B gpl A
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=gl 275,700 259,864 15,836

g8 AE 2 I 185,918 160,840 25,078

=2EA N 108,418 110,840 A2,422

=0t & ALK 5,457 6,420 A 963

201 B3| 2,550 3,000 A450

03 #HAH2SHI 2,550 3,000 A 450

OZHA2Y 2,550 3,000 A450

301 et ag 2,907 3,420 A513

10 HAAHIZ &3 2,907 3,420 A513

OAMEHIEYS 2,907 3,420 A513

—SHH? AZHA FAX =4 987 1,120 A 133

—gH ZHEAMY 4 FAL 24 1,120 1,500 A 380

23X 14,481 15,940 A 1,459

201 LetH| 13, 131 14,590 A 1,459

02 2323l 13, 131 14,590 A 1,459

OXtgte et 6,774 7,474 AT700

—3E2X 7FH 4,228 4,228 0

— & HIXt =&=4 846 846 0

— X & 1,700 2,400 AT700

(@) E=3:] 4,657 4,716 A59

OAEZHIS X 1,700 2,400 A700

FOHO AlY &3 77,500 50,000 27,500

282 FEAIE e 77,500 50,000 27,500

401 Al&HIZL=ROHYI 77,500 50,000 27,500
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OB AR EAY| 540 600 AB0

04 BEASIHFFEHI 2,700 3,000 A 300
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JI=&Hl 79,942 88,824 28,882




oF
R’

ok
o]

30 &
0B R0
3J R0 )

30w~

SN

7
o Tt
=

OO O © © © A O Ol A 1A
DO OO - AN O Y O O]l OO O
Nl © o9 g dd|n|n D
=0 <[ o o < < < S S| <
o | <9 A 4 <l Q< <
B
=)
I S 8§ © ©O © O O ol o |lo o
O 1O O O O O u O Ol A A AN
DO O 0O - F O Ol v” ]| &
dlg o ¥ & N oadl|lwle W
g |® N - - — || <
al
RO
m
44644M800888
— | = O O M~ L O Ol Al A A
©lo = @ = 5O 0D N0 @
DI~ O N < N O Of — | —
»|lu & — - — || <
3
<
=
or
J —
X0 d
A KF
' R0
3D 0
=< oD
o — 3 & K0
< 5
— <Moo — 80
= ) o M T = 0H
oy ol g W0 0 = x
— — o D ok Al
5 = 30 M & &
5 | D[z W < B 5 M =]
8 |m <+ X o RO OOH 8 O 55
s | o0 @ a WX A 5 3
G TN 0 S T T OV £ (G V0 == =
RO ol | < O O d O|& | O
_l=zls S Nz
X s\ "
[




SN ME
B Ael AR
04 o

el FOIEOG XY (B9 &2
SA BB H(BH) - MBAY - B2 Of) & o I o HRs2
el 264,024 248,409 15,615
Kl ArI | 172,248 147,170 25,078
Z0IE0 X2 94,748 97,170 ~2,422

2402 U ALK 5,457 6,420 ~963
201 Y2 ay| 2,550 3,000 A 450

03 A2 Y] 2,550 3,000 A450

ORUABA2Y 2,550 3,000 A450

301 PR AS 2,907 3,420 A513
10 BALAHI 24D 2,907 3,420 A513
OBALAH P42 2,907 3,420 A513
—STOS AZMAL AT SAH| 952 1,120 A 168

o DAY HHE HAR P4 1,275 1,500 ~225
—=XPAAG 59 BAT B4 255 300 Ad5
—2EP BAHOISSR S) FAT 24 425 500 AT5
=ML 14,481 15,940 A1,459
201 Y2 Y| 13,131 14,590 A1,459
02 ZZ2YHl 13,131 14,590 A1,459
OxtZ & eyl 6,726 7,474 AT48
—3t2x 7FHl 3,805 4,228 AN423

— M KB 761 846 A85

— X2 E | 2,160 2,400 A240

Ot 2H| 4,245 4,716 AT

OAN & ZHI S| 2,160 2,400 A 240
ZOIHO| AIM EHE 77,500 50,000 27,500

ATD FOAIA KA 77,500 50,000 27,500
401 AEHIL2 ] 77,500 50,000 27,500
01 Al 77,500 50,000 27,500

OARR A& 47,500 50,000 A2,500
OARR HRAA 30,000 0 30,000
HESHHY| (M) 91,776 101,239 ~9,463
oz 2oyl 9,804 10,160 356
ozl 2 oyl 9,804 10,160 A356
203 R =AY 9,804 10,160 A356

02 HEIIMAREAY| 504 560 A56
OFAINALEFY| 504 560 A56

04 BASIAREAY| 2,700 3,000 A300
ORN2YYREAY| 2,700 3,000 A300

=2y 81,972 91,079 A9,107




M MHE

B WESAZYI (M)

&t D=3l (etel: =3
SN CR(EH) - NRAY - BES 0fl &t o o173 o HZ2
Jl=&Hl 81,972 91,079 A9,107

201 Let2d| 37,692 41,879 N4,187
01 AtE22|HI 27,972 31,079 A3,107
Oo=2g=¢ 5,085 5,650 A 565
Oget=gH| 20,524 22,804 N2,280
—2AN2Y Let=2H| 12,960 14,400 A1,440

— LS E HIS 2L 4,320 4,800 A 480
—Z3ANH BEEES MH 360 400 240
—Fo3dEY 2,884 3,204 A320
O&AN2E =&l 2,363 2,625 N 262

02 2323l 9,720 10,800 A 1,080
OZ232= ¥ HAl 9,720 10,800 A 1,080

202 O4Hl 44,280 49,200 N4,920
01 S 44,280 49,200 A4,920
O=UHI(2A2Y & SEHEFN) 44,280 49,200 24,920




A DA
I DA AlE S
Etel: =2F0 X (el &
A - EFH - HA(SA) - NEAMY - BES &hoh Blusz
269,179 253,363 15,816
At B8l 177,367 152,084 25,283
20 X& 99,867 102,084 N2, 217
fx0ts & ALK 5,457 6,420 A 963
201 LEt=gH| 2,550 3,000 2450
03 A2 HI 2,550 3,000 A450
OzZd=dA=2dY 2,550 3,000 A450
301 eEt2a =3 2,907 3,420 A513
10 HAIAMHIE S = 2,907 3,420 AB513
OgAMAHIEaS 2,907 3,420 A513
—SHHP 2SN ZTHAT S4HI 952 1,120 A 168
— g ZHEAIY 483 AL 2 1,275 1,500 N225
—FAA 22 FAL 2o 255 300 N45
—ZHe BAH(OIs=H 8) F4X 24 425 500 AT5
23 A& 12,640 13,894 N1,254
201 2Bt 11,290 12,544 N1,254
02 S&2gH| 11,290 12,544 A1,254
OXt& ety 4,885 5,428 A543
—3t=X 7= 3,805 4,228 N423
—XEEHl 1,080 1,200 A120
O =l 4,245 4,716 AN4T
OUNF=F-=3:[EIAL: ] 2,160 2,400 A 240
B A &5 77,500 50,000 27,500
272 FEUAE e 77,500 50,000 27,500
401 AEHIZ R0 77,500 50,000 27,500
01 Al&HI 77,500 50,000 27,500
OL72 AlE 47,500 50,000 2,500
OARE =AM 30,000 0 30,000
AY2FBHI(DEHY) 91,812 101,279 A9,467
el 2| 9,840 10,200 360
el 23| 9,840 10,200 360
203 YR =& 9,840 10,200 A 360
02 HBIMHRFAH 540 600 60
OZ &It S =4H| 540 600 60
04 FA2SERFAHI 2,700 3,000 A300
ORANzEgR2Fal 2,700 3,000 A300
=34 81,972 91,079 9,107
JI=38l 81,972 91,079 /9,107
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03 A2 | 2,550 3,000 A450
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301 YerBA3 2,907 3,420 A513

10 SAFAHI A 2,907 3,420 ~513

OSAAHIB A3 2,907 3,420 A513
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2K 14,481 15,940 A1,459
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